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https: mmariz3.herok m

BEEALR/Z2I517|: @theeluwir
EoFE A @lacti
10Z+ 0|4}, 10000%} 0| 8}, 5027 O3}2 HAEE HojF A Q
- =03 Al B2 X = =} =3 A ot=a SEEeasEes
39&* §|:||=| '|'_'C>I. En_ EI.OII'I'E 5! JH !|=|!0|'A'I OIEE 'I'é'ﬂ R—I:'l'_' QIEE Of7| &M 2t C|EH Of7| M2 LS = At2 & 7H2] RNN Of7| =14 LT
2 22 ZERNN 22 QI2C2ta 511, £3 2X2 £ RNN 22 [
_ OI= 0| =<} CIHO=ES MH o= = [=p = -
9—|FT'_'9-| o O“_.l' |_|'0'|‘I‘E|_ ﬂ-l- 'El'l'_'O'“ EIHOI'E '|'_'c>l.a IOED SL|CH 7| M= QIEE 2 RNN 28 Mo = [T GO RNN 28
EEMo= 5HTLL £ 85 242 2l X == st RNNO| OfL 2}
LSTM 2 == GRUEEZE FEEUC FU AZHE MM 32T, 25 EZ e
Qot5l 7|

& REo| 210 5 SE 0] MIstEICt

O
J=
i
=

I po 8

-


https://summariz3.herokuapp.com/

>

1. &A= O|Set HIAE K9

2) =4&A Q2 abstractive summarization)

- R0 AE BHOIZIT S BUS HIGS 2R BES MMM ARS L0t

- OFXI AIEH0I 22f5t= A &2 &4
- FEH QofHt= HOIEI) =L

=g= |

- FE 218 MBS A26HH (HERQI REZ seq2seq A2
- seq2seqlt &2 2l =2 JI2NOE Kk &t&

- ‘22" E0otLi2H Xl 2f2'0l2H= dl0oIE CIOIH ER

CHA: DIOIEIE 2d5k=

»

KEAIDE SHLEC| 2

=



Al LS
. = H

* CIOIE 2

@ STANFORD NETWORK ANALYSIS PROJECT - UPDATED 5 YEARS AGO - 1891 New Notebook

Amazon Fine Food Reviews

Analyze ~500,000 food reviews from Amazon

Data Code (686) Discussion (17) Metadata

About Dataset Usability ©®
7.94
Context License

CCO: Public Domain
This dataset consists of reviews of fine foods from amazon. The data span a period of more than 10 years, including all ~500,000 reviews up to
October 2012. Reviews include product and user information, ratings, and a plain text review. It also includes reviews from all other Amazon Expected update frequency

categories. Not specified

Contents

* Reviews.csv: Pulled from the corresponding SQLite table named Reviews in database.sglite

e database.sglite: Contains the table 'Reviews'
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-2 seqg2seq + attention

- LQStESS URESILILCE

tensorf low, keras. |avers lnput, LSTM, Embedding, Dense,
tensorf low, keras. mode| s Mode |

tensorf low. keras. cal |backs Earlystopping, ModelCheckpoint




3. R El AH| S ==
« OIAE AAH|: LSTM =2 37H LHSLLCY

1 embedding_dim = 126

¢ hidden_size = 2bb

3

il

5 encoder_inputs = Input {shape={text_max_len, )]

G

i

& enc_emb = Embedding(src_vocab, embedding_dim) (encoder_inputs)

9

10

11 encoder_lstml LSTM{hidden_size, return_sequences=True, return_state=True ,dropout = 0.4, recurrent_dropout = 0.4)
12 encoder_outputl, state_hl, state ol encoder_Istmi (enc_emb)

13

14

15 encoder_lstm2 = LSTM{hidden_size, return_sequences=True, return_state=True, dropout=0.4, recurrent_dropout=0.4)
16 encoder_output?, state_he, state_cg = encoder_lstm2(encoder_outputi)

17

18

19 encoder_lstm3 = LSTM(hidden_size, return_state=True, return_sequences=True, dropout=0.4, recurrent _dropout=0.4)
20 encoder_outputs, state h, state c= encoder_|stm3(encoder _output?)

21
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* LIZO 2AH: 2201 SEH(initial_state) S 1A Q| EEH= =0{0F &

1

¢ decoder_inputs = Input (shape=(None, ) )

True, retysiZstate Tuesdropout = 0.4, recurrent_dropout=0.2]

[state_h, state c])

- LSTMOI 2l8iol= 24 SEH’E & SEHRl state_h2t state_cE HE



(Wone, 5O, 128) 1024000 ["input_1[01001"]

stm (LSTH) ( i), 394240 ['emnbeddinag[0][0]"]

input _2 {Inputlaver) [(Hone, Hone)l i []

[stm_1 (LSTH) ( 266}, 525312 [*"Istn[0][0]"]

enbedding_1 (Enbedding) {Mone, Mone, 128) [“input_2[0][0]"]

[stm_2 (LSTH) [ , 266}, 525312 ["Istm_1[0][0]"]

[stm_3 (LETH) ( ., 2B6), 394240 ' ng_1[0][0]",
' [11*,

3 633 104JHOI [IHJHI:H—/I\—% jl.ﬂ dense (Dense) {Mone, HNone, 514000
seq2seq HE! AH|
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Zurllib.request . urlretrievel"https:/fraw. githubusercontent  confukairia?fiftensorflo

"attention.py")
attention hdttentionlLayer



https://www.youtube.com/watch?v=WsQLdu2JMgI
https://github.com/ukairia777/tensorflow-nlp-tutorial/tree/main/20.%20Text%20Summarization%20with%20Attention

attn_laver dttentionLaver(pame="attention_laver')
attn_out, attn_siaces — attn_laver([encoder_outputs, decoder_outputs])

decoder _concat_input = Concatenatelaxis = -1, name='concat_laver'1({ [decoder _outputs, attn_out])

decoder_softmax_laver Denseltar_vocab, activaticn='softmax')
decoder _softmax_output=s decoder_softmax_laveri{decoder _concat _input)

moce | Model { [encoder_inputs, decoder_inputs], decoder_softmax_outputs)
model . sunmary( )




2 4,276,432JH9| II2HOIEIE
JHEI BE A

input _2 {lnputLaver ) [{Mone, Monel]

[stm_1 [LSTH) [

enbedding_1 [Emnbedding) {hone,

Istm_3 (LSTH)

attent fon_laver (AttentionlLave
rl

at_laver [ atenate) (Mone, MNone, 512

| Mone, Mone,

[*l=stm[0O][0] ']

[“input_2[0][0] "]
[*lstm_ 1000007 "]




I model . conpi leCopt inizer="rmsprop’, |oss="sparse_categorical _crossent ropy’ )

* EarlyStopping 22 & A 5l Hl sk

s = EarlyStoppinglmonitor="val _loss', mode="min', verbose=1, patience

history = wodei . T1t(x ¥ = dece . M

[ I e ]

val idation_data = {[encoder_input _test, decoder_input_test], d
batch_size = 256, callbacks=[es], epochs = 50)

mn =




10ilA =2 HIOIEQt HIAE OIOIECl lossgt AlZi=t

0

sl i =111

I plt.plotthistory. history['loss'], label="train"]
test

2 plt.plotihistory. history['val _loss'], label="test"') 26

3 plt. legendi )
A4 plt, show) 24 -

18 -
1a -

0.0 25 5.0 15 0 125 150 175
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- HHAEZE 2loH 28t 3JH9| AS 84

sre_index_to_word = src_tokenizer. index_word

2 tar_word_to_index = tar_tokenizer word_index
J tar_index_to_word = tar_tokenizer. index_word

- src_tokenizer.word_index(i] Et0{ I1R90| B4
{1: 'like',

2: 'good’,

3: 'great’,

4: 'taste’,

5: 'product’,}



4. seq2seq + attention@ 2 ROF HEI HIAE

« ME seq2seq BE! &3]

« OIA[H A9]

-> seq2seqe= =2 HHHIQE HIAE BEHHIO| S&H0| CHE
-> HIAE CHH|O| RE! H- = &4

1




4. seq2seq + attention@ 2 RF HE! HIAE

* HIAE EHAHIO| CIZEH £ A

2 decoder_state_input_h Input {shape=(hidden_size, ) )
3 decoder_state_input_c = Input{shape=(hidden_size,))

A dec_emb? = dec_enb_laver(decoder_inputs)

8 decoder_outputss, state_hd, state_cd

o 0y
(L
Xz
o

t =22l LSTME| 2lEi6tl= 24 SEHet & SEH2l state_hll state_c=E HLEIXl &=.



4. seq2seq + attention@ 2 RF HE! HIAE

- HIAE EFAHIC| CIZEH Al

7 ¢ Input i shape=(text _max_len, hidden_size))
Jattn_out_inf, attn_states_inf
Concatenatelaxis=-1, name='

softmax_laver(decoder_inf_concat)

O -

(i




4. seq2seq + attention@ 2 RF HE! HIAE

« HIAEE 2|ol AI2Ekl= &4 decode_sequenceE & A

[ o R o

[ R ol IR =Y

[ Y o R w N |

[E_out, e_

[summary_max_len—117:

_index




4. seq2seq + attention@ 2 RoF JEI HIAE

« Bp ARAEHIAE A|ZAZ OIE = gt A7

|

-> HIAE HHOIM 210 &N U, HIS RLYES HIuoh| 21t

2 gef seqltext( inout seg):
sentence=""
i input _sedq:
(il=0):
sentence = sentence + src_index_to_word[i]+"
Sentence

0 gef seazsunmaryl fnsut seq):
sentence=""
input _seq:
((i!=0 il =tar_word_to_index[ ' sostoken']) |l =tar_word_to_index['eostoken']):

sentence sentence tar_index_to_word[i]

Sentence




4. seq2seq + attention@ 2 RF HE! HIAE

« HIAE tH= = 5002 E{ 1000 )X HIAE

i range( 500, 1000):
print("S & @ ",seqltextiencoder_input_test[i])
printi"&H St “:' Y SEQZSUNmAry I:iE:::iPr |r|tu’r_’rw:z;t[i]]| )

nrint("Hl = <2 ", de oder_input _test[i].reshape(l, text_max_len)))
print{"#n")




4. seq2seq + attention@ 2 RF HE! HIAE

=X o
— I E —_ 2. ;. 1 e b 8 Baste Eent real ) gyver consistency bars somewhat sticky learned eat wipe hands wash
= A ; s[ole] [ternative for aluten f
= 222 ¢ not bad

could find anvmore finally found amnazon loves help breath teeth

&= . cookies taste great kids love feel good giving healthier snack reason
give star becuase bag comes servings makes little less convenient use
traveling extra bowl baggie problem easily solved definitely buy

&l K2F= : kids love them
HI= QLUE: great for snacks

&= ! tea works calms makes sleep better may work everyone thank
2l 2= : relaxing
HIE RSA4F: great tea
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MOl K| &3

PR(A) = (1-d)/N + d (PR(T1)/C(T1) +... + PR(Tn)/C(Tn))

#HO|X| TI.PageRank = 0.1
(5702 23 & 7K1 US)

2 H| 0| X| T2.PageRank = 0.3
(2702 3 & 71X /US

o X[ A

#|1f| 0] X| T3.PageRank = 0.05

PageRank = 0.34 (1742 23 & 7}X| 11 *UD)

20| X| T4.PageRank = 0.2
(1074e] &3 & 7K1 US

|| 0| X| T5.PageRank = 0.3
(70 2 3E 7HA | US
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Fmpy np
Qensim

urllib. request urlretrieve, urlopen
azip

Zipfile

urlretrieve("http://nlp.stanford. edufdata/glove BB . zip", filename="¢glove BB.zip")

Zf z I

line f
word_vector
word

, dtype="float32"]
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embedding dim = 100

zero_vector = np.zeros(embedding_dim)

def calculate_sentence_vector(senfence) !

Zero vector




eng_sent = ['1', 'am', 'a',
Sentence_vector calculate sentence vector(eng_sent)

printlisentence_wvector|)

0.31403124 ] -0, 20965315 -0, 49992
3484675 0. 02556 3 0.3011375
J1EEETE -0, 0573175 110535
00770y 07589749
.03991 7! 27

| |

0 . 0
0.

CAART424A8
4

94957
2.5141
729645

513553

e =0, 33907974

—[. 45005

1

O
|

r-a

e |

-[. 1366575
295 57675 0.28758746 0. o 09792

1. 0446475
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urlretrieve("https://raw.githubusercontent .com/prateekjoshibbb/text rank_text summarization/master/tennis_ articles_vd.csy",
filename="tennis_articles_v4 csy")

data = pd.read_csv("tennis_articles_vd csv")

data.head()

article_id article_text Source j?:
0 1 Mana Sharapova has basically no frends as te...  https://www.tennisworldusa.org/tenmis/news/Mar...
1 2 BASEL, Switzerland (AP), Roger Federer advance... http://www.tennis.com/pro-game/2018/10/copil-s...
2 3 Roger Federer has revealed that organisers of ... https://scroll.in/ffield/899938/tennis-roger-fe...
3 4 Keir Mishikon will try to end his long losing ... http://fwww.tennis.com/pro-game/2018/10/nishiko...

4 5 Federer, 37, first broke through on tour over ... https://www.express.co.uk/sport/tennis/1036101...
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+ nltk.tokenize2| sent tokenizeAl&

nltk download( punkt ')

nltk. tokenize sent _tokenize

data dﬂtﬂ[['ﬂFtiElE_tEEt']”
datal 'sentences'] = data['article_text'] apply{sent_tokenize)
data




enize word_tokenize
topwords' )

s words('english')

2s_sentence( sentence)

[re.sub(r'[~a—zé-zWs]", "', word). lower() word

[ Word Word WO stop_words WOl ]

def preproc




embedding_dim = 100

zero_vector = np.zeros(embedding dim)

def calculate_sentence_vector(senfence) .

sumt [glove_dict get(word, zero_vector)

word sentence])/le

Zero vector




gef similarity_matrix(senfence. F“heuu'L;-
sim_mat = np.zer ?f[IEHEE' .u::";:J _embedding) ])
i - —
embedding_dim),
sedding_dim) ) [0, 0]

Sim_mat

datal 'SimMatrix'] = datal 'SentenceEmbedding' . apply(similarity_matrix)

Jriﬂt"LrﬁjﬂH z = o ! 2l | =3 T napeldatal 'SentenceEmbedding 1[11))
arint (' SHR - : y ) s :




oH 24

0

cHE AlZF2H(nx)

[
||

ht': 0.9999999403553552}

ghpt
- o 85];

11849~

[GBEE)

2

7789}

347

2

6488677263

483

0.8073003915097383:

{"weight"; 0.8

599998507907104}
A

—'\}’

.\
‘weight': 0.9999948211860657}



datal 'score'][1]

[, 083150944 74060455,

deaf calculate scorelsim matrix):
nx_araph = nx. from_numpy_array(sim matrix)

nx . pagerank (nx_araph)

0BE55019786193463,

J0B3E371 7299570027,

—_—— — o —

0813794050731 138,

084392850679 75581,

08507725735628792,

datal 'score'] = datal'SimMatrix'] applv(calculate score)

O 00— OCT f= G ) —

1!

07454046000845007,

ry

0, 0853583657202 7003,

?D: 0. 084982424931 529083,
11: 0,085816415783756529}




A
, f=a)

enumerate(sentences) ),

reverce=True)

top_scores[:n]]

datal 'summary'] - data.apply(/ambga x:
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! Maria Sharapova has basically no friends as tennis players on the WTA Tour. The Russian player has no problems
in openly speaking about it and inm a recent interview she said: 'I don't really hide any feelings too much. I think e
veryone knows this is my job here. When I'm on the courts or when I'm on the court playing, I'm a competitor and I wa
nt to beat every single person whether they're in the locker room or across the net.So I'm not the one to strike up a
conversation about the weather and know that in the next few minutes I have to go and try to win a tennis match. I'm

a pretty competitive girl. I say my hellos, but I'm not sending any players flowers as well. Uhm, I'm not really frie
ndly or close to many players. I have not a lot of friends away from the courts.' When she said she is not really clo
se to & lot of players, is that something strategic that she is doing? Is it different on the men's tour than the wom
en's tour? 'Mo, mot at all. I think just because you're in the same sport doesn't mean that you have to be friends wi
th everyone just because you're categeorized, you're a tennis player, so you're going to get along with tennis player

s. I think every person has different interests. I have friends that have completely different jobs and interests, an
d I've met them in wvery different parts of my life. I think everyone just thinks because we're tennis players we shou
ld be the greatest of friends. But ultimately tennis is just a very small part of what we do. There are so many other

things that we're interested in, that we do.®

82 : I think just because you're in the same sport doesn't mean that you have to be friends with everyone just beca
use you're categorized, you're a tennis player, so you're going to get along with tennis players. When I'm on the cou
rts or when I'm on the court playing, I'm a competitor and I want to beat every single person whether they're in the
locker room or across the net.5o0 I'm not the one to strike up a conversation about the weather and know that in the n
ext few minutes I have to go and try to win a tennis match. I think everyone just thinks because we're tennis players

we should be the greatest of friends.
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WikiLingua: A Multilingual Abstractive Summarization
Dataset

UPDATE:

We have created new Train/Test splits for all 17 languages that can be downloaded here. These splits were created
to ensure that there is no (document, summary) pair overlap across any of the 17 languages so that they can be
safely used for multilingual evaluations.

This repo contains dataset introduced in the following paper:
WikiLingua: A New Benchmark Dataset for Multilingual Abstractive Summarization

Download the dataset using this link.

Please refer to this Collab notebook to see how to align articles in other languages with the parallel English articles.

Korean
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The most comprehensive collection of stopwords for the korean language.

A multiple language collection is also available.

Usage

The collection comes in a JSON format and a text format. You are free to use this collection any way you like. It is only

currently published on npm and bower.

% npm install stopwords-ko

% bower install stopwords-ko

len!stopwards)

B35




apSI=

htm! EHZ HIH
iy husband (and myself) for == my husband for

5 = " join(word for word in sentence.split() if not word in stopwords if len{word) = 1]
OIHH (Summary )

“dointward for ward in sentence.spliti) if lenf{ward) = 1)




HIOIEl =&

summary

120 A

100 1

—D}ﬂm'ﬂhﬁﬂ

Text

1750 1

1500 1

1250 4

1000 4

750 1

500 1

250 1

=4 —— C OO

number of samples

number of samples

summary

1a00 4

1400 4

1200 1

1000

800 1

GO0 1

400 1

200 1

1600 4

1400 4

1200

1000 4

800 1

200 1

400 1

200 1

20 40 B0 80 100 120
length of samples
Text
T T T T
250 500 750 1000 12500 1500 1750

length of samples
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below_threshold_lenitext_max_len, datal document ])

ot 350 0|52 MZ2) | 0.78711631
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I
i 1) B

‘docunent 1 .appl v

¥ I ] . dpp




threshold = 7

total_cnt = len{src_takenizer word_index) # THZ 2=

rare_cnt = 0 & S2 YIZ 23} threshold2CH Z2 SHHE {42

total_freg = 04 23 HOIEE Hill 2H ST+ & &

rare_freq = 0 4 SE Y Z 22} threshold2CH EHE ShiHe| SE HIE 48] £ &

[ ] threshold = B
total_cnt = len(tar_tokenizer.yord_index) # ZFHE! =
rarecnt = 0 # SE HIZ20t threshold2CH 22 SHH2 =S 3t
total _freqg = 0 & =2 HI0IEf8 HA =M =+ £ &
rare_freq = 0 # SZ B2} threshold2CH B2 ShHE| S& Bl 29 £ ¢

# SRR Q=B ipair]E kew2h value= 2h=Lk. #SH2E HE 2 Aipair]S key2t valueE LeCf
far key, value in src_tokenizer. word_counts. items():

for key, value in tar_tokenizer.word_counts. items():
total _freq = total_freq + walue

total _freg = total_freq + value

# SIHE SE Bl 40) threshold2CH ZHe @ # SH2| SE Bl= 40t threshold2Ch 20 H
iflvalue < threshold): iflvalue < threshald):

rare_cnt = rare_cnt + 1 rare_cnt = rare_cnt + |

rare_freq = rare_freg + value rare_freq = rare_freg + value

e =]

=

T & vocabulary)El 22| <, total _cnt)

BIC O %t 0I5H20 =12 SHHE 2=: %5 %(threshold - 1, rare_cnt))

E A & SHHE HZAE 22 S EEE 2T ke kitotal et - rare_cat]]
M A = SHE HIE:, (rare_ent / total_cnt)+100)

SXHTHAM EH SH SZ 2T HIE:", (rare_freq / total_freg)+100)

Hl & vocabulary)2l 23] o' total _cnt)

BIC I % Oft2 2|3 SHE o= %z %(threshold - 1, rare_cnt))

DY M 2H SHE HZAZ 222 S ZEE 33| ¥ Kltotal _ent - rare_cnt))
TEtl A 2 THE HIS:, (rare_cnt / total _cnt)+100)

S HITH A &4 SH SE YT Hl=:", (rare_freq / total_freq)+100)

i [0 L0 R
[ =]

et

(% [0 F0 0 FO

% & o 39 -
& (vacabulary}2] 37| : 162473 ELR o S
=0 o OIS Sl ) o 1GiBE DA B2 SHE MEAR 329 S Yuel 3] A
2 A 2 ZME RAR 28 Pn EE 32] 245325 TE M 27 CHHE| 2 oB A0AlEISISEDT
20 4 317 S0 ]2 - A, GAsandsaR3E : =

A LA [T A
f e et g

o

SE S =4 BH SE 2T HIE: 29.05306258507501 57

nin

sl S =& 2T Hl=: 17 498095977292545




Mode | : “nodel 17

input _1 [ lnp

embedding (Enbedding]

i HI:II'IE!::']
Istn_1 C[LETHI
embedding_1 (Embedding]

LHOne,
[Hone,

ro(Attentionlaye
. Mone,

e, Hone,

[“input_1 0] (0] ]

["enbedding (O] [O] ]

[
[ lstm[0] [O] ]

Cinput_2[0] (0] ° ]

“letmo1 [O] [0 ]

[o] (0] 1]
er (0] [0] "]
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https://github.com/keonju2/nlp_study/blob/426ba1547bb71bcdf302f6c70e5baa6d594b8c63/attention.ipynb

